
Instruction Sheet
Adapter Kits for GREENERD Manual 408--9027

LOC B

1 of 2E2011 Tyco Electronics Corporation, a TE Connectivity Ltd. Company
All Rights Reserved
TE Connectivity, TE connectivity (logo), and TE (logo) are trademarks.
*Trademark. Other logos, product and/or Company names may be trademarks of their respective owners.

TOOLING ASSISTANCE CENTER 1--800--722--1111
PRODUCT INFORMATION 1--800--522--6752

This controlled document is subject to change.
For latest revision and Regional Customer Service,
visit our website at www.te.com

18 Mar 11 Rev CFrame Assemblies 3A and 3B

Figure 1

Counterbalance Kit 58176--1
(Counterbalance, 2 Screws,
and 2 Nuts)

Board Support Plate Kit 58175--1
(Board Support Plate, Nut,
Screw, and Washer)

Ram Adapter Assembly Kit 58177--1 or --2
(Ram Adapter, Magnet, Dowel Pin, and
1¢4-- or 1¢6--in. Push Block)

GREENERD Manual
Frame Assembly

1. INTRODUCTION

Counterbalance Kit 58176--1, Ram Adapter Assembly
Kit 58177--1 or 58177--2, and Board Support Plate Kit
58175--1 are designed to be installed onto
GREENERD Manual Frame Assemblies 3A and 3B.
These kits are used to adapt the frame assembly for
seating connectors with ACTION PIN* contacts onto
a (pc) printed circuit board.

Read these instructions thoroughly before using the
kits.

Dimensions in this instruction sheet are in
millimeters [with inches in brackets]. Figures are
not drawn to scale.

Reasons for reissue of this instruction sheet are
provided in Section 5, REVISION SUMMARY.

2. DESCRIPTION

When properly assembled onto the frame assembly,
the counterbalance kit balances the handle and ram,
the board support plate kit supports the pc board
during connector seating, and the ram adapter
assembly kit prevents damage to the connector
during seating.

3. INSTALLATION
Refer to Figure 1, and install the adapter kits as
follows:

1. Install the counterbalance onto the handle of the
frame assembly. Secure with the hardware.

2. Install the board support plate onto the base
plate of the frame assembly. Insert the screw
through the hole from the top of the plate. Secure
with the hardware.

The board support plate can be installed in one of
three positions. Choose the position that best
supports the size of the pc board being used.

3. Insert the push block from the ram adapter
assembly kit onto the ram adapter, making sure
that the magnet in the ram adapter holds the push
block. Install the ram adapter onto the ram of the
frame assembly. Insert the dowel pin through the
hole in the ram adapter.

4. REPLACEMENT AND REPAIR
Customer--replaceable parts are listed in Figure 2.

A complete inventory should be stocked and
controlled to prevent lost time when replacement of

NOTE

i

NOTE

i



408- 9027

Rev C2 of 2

parts is necessary. Parts other than those listed
should be replaced by TE to ensure quality and
reliability. Order replacement parts through your
representative, or call 1--800--526--5142, or send a
facsimile of your purchase order to 717--986--7605, or
write to:

CUSTOMER SERVICE (038--035)
TYCO ELECTRONICS CORPORATION
PO BOX 3608
HARRISBURG PA 17105--3608

For customer repair service, call 1--800--526--5136.

5. REVISION SUMMARY

Revisions to this instruction sheet include:

S Updated document to corporate requirements

Counterbalance Kit Board Support Plate Kit Ram Adapter Assembly Kit

127+1.52
[5+.060]

162+1.52
[6.38+.060]

21.8 [.86]

457+1.52 [18+.060]

457+1.52
[18+.060]

9.53
[.375]

(Inside)

1 2 3

4

5

6

7

11

12

10

8

9

REPLACEMENT PARTS

ITEM PART NUMBER DESCRIPTION QTY PER KIT

1 1--21018--5 NUT, Hex, 5/16--18 2

2 2--21001--2 SCREW, Socket Head Cap, 5/16--18¢1.50 L 2

3 312750--1 COUNTERBALANCE 2

4 1--21018--5 NUT, Hex, 5/16--18 1

5 5--21003--1 SCREW, Socket Head Cap, 5/16--18¢1.75 L 1

6 21055--9 WASHER, Flat, 5/16 1

7 312749--1 PLATE, Board Support 1

8 3--21000--4 SCREW, Socket Head Cap, 10--32¢.38 L 1

9 20908--1 MAGNET, 1.38 D¢1.19 L 1

10 6--21030--8 PIN, Dowel, .50 D¢2.25 L 1

11
312751--1 PUSH BLOCK, 25.4¢102 [1¢4] (Included with Kit 58177--1) 1

11
312751--2 PUSH BLOCK, 25.4¢152 [1¢6] (Included with Kit 58177--2) 1

12 312752--1 ADAPTER, Ram 1

Figure 2



X-ON Electronics
 
Largest Supplier of Electrical and Electronic Components
 
Click to view similar products for Hand Tools category:
 
Click to view products by  TE Connectivity manufacturer:  
 
Other Similar products are found below :  

568681-1  576786-2  58061-1  58176-1  58177-1  58177-2  58284-1  59085  0031  59737-5  015-0339-000  015-8755-001  600-146-06  M15570-

25  62200-5709  6-304052-1  63443-1002  63443-3513  63443-4025  63443-7114  6-354778-5  6-354779-2  63600-2995  63810-0105 

M8196914-08  M819698-07  662508-1  662908-1  679994-1  679994-2  68764-0001  69001-0105  69002-5525  690124-7  690191-1  690191-4 

690696-1  691409-4  691667-1  692006-2  692655-7  692776-1  692776-4  693077-3  693077-4  693597-1  D20418-137  D20419-189  ESR-

17x17  ET-LY10  

https://www.x-on.com.au/category/tools-supplies/tools/hand-tools
https://www.x-on.com.au/manufacturer/teconnectivity
https://www.x-on.com.au/mpn/teconnectivity/5686811
https://www.x-on.com.au/mpn/teconnectivity/5767862
https://www.x-on.com.au/mpn/teconnectivity/580611
https://www.x-on.com.au/mpn/teconnectivity/581761
https://www.x-on.com.au/mpn/teconnectivity/581771
https://www.x-on.com.au/mpn/teconnectivity/581772
https://www.x-on.com.au/mpn/teconnectivity/582841
https://www.x-on.com.au/mpn/teconnectivity/59085
https://www.x-on.com.au/mpn/heyco/0031
https://www.x-on.com.au/mpn/teconnectivity/597375
https://www.x-on.com.au/mpn/itt/0150339000
https://www.x-on.com.au/mpn/itt/0158755001
https://www.x-on.com.au/mpn/glenair/60014606
https://www.x-on.com.au/mpn/teconnectivity/m1557025
https://www.x-on.com.au/mpn/teconnectivity/m1557025
https://www.x-on.com.au/mpn/molex/622005709
https://www.x-on.com.au/mpn/teconnectivity/63040521
https://www.x-on.com.au/mpn/molex/634431002
https://www.x-on.com.au/mpn/molex/634433513
https://www.x-on.com.au/mpn/molex/634434025
https://www.x-on.com.au/mpn/molex/634437114
https://www.x-on.com.au/mpn/teconnectivity/63547785
https://www.x-on.com.au/mpn/teconnectivity/63547792
https://www.x-on.com.au/mpn/molex/636002995
https://www.x-on.com.au/mpn/molex/638100105
https://www.x-on.com.au/mpn/glenair/m819691408
https://www.x-on.com.au/mpn/dmc/m81969807
https://www.x-on.com.au/mpn/teconnectivity/6625081
https://www.x-on.com.au/mpn/teconnectivity/6629081
https://www.x-on.com.au/mpn/teconnectivity/6799941
https://www.x-on.com.au/mpn/teconnectivity/6799942
https://www.x-on.com.au/mpn/molex/687640001
https://www.x-on.com.au/mpn/molex/690010105
https://www.x-on.com.au/mpn/molex/690025525
https://www.x-on.com.au/mpn/teconnectivity/6901247
https://www.x-on.com.au/mpn/teconnectivity/6901911
https://www.x-on.com.au/mpn/teconnectivity/6901914
https://www.x-on.com.au/mpn/teconnectivity/6906961
https://www.x-on.com.au/mpn/teconnectivity/6914094
https://www.x-on.com.au/mpn/teconnectivity/6916671
https://www.x-on.com.au/mpn/teconnectivity/6920062
https://www.x-on.com.au/mpn/teconnectivity/6926557
https://www.x-on.com.au/mpn/teconnectivity/6927761
https://www.x-on.com.au/mpn/teconnectivity/6927764
https://www.x-on.com.au/mpn/teconnectivity/6930773
https://www.x-on.com.au/mpn/teconnectivity/6930774
https://www.x-on.com.au/mpn/teconnectivity/6935971
https://www.x-on.com.au/mpn/itt/d20418137
https://www.x-on.com.au/mpn/itt/d20419189
https://www.x-on.com.au/mpn/3m/esr17x17
https://www.x-on.com.au/mpn/3m/esr17x17
https://www.x-on.com.au/mpn/jae/etly10

